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Problem 1 

 

Fu=____________N Fv=_______________N 

 

Given: 
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Problem 2 
 

Fx=___________________N FZ 

=__________________N 

 
Given: 

 

º30
º60
N60

=
=
=
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F
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Problem 3 

 

°≤≤° 1800( θθ a) 

 

 
a) θ =______________ b) 

θ =__________________ 

 

Given: 

 

 

 
 
 

 

 

 

 

Problem 4 

BX=_______________kN BY=__________________kN 

 
Given: 

 

 

 

 

 

F 400 N=  

a 1.2 m=  

b 0.3 m=  

M 1200 Nm=  c 0.9 m=  

F 1950 N=  d 5=  

a 2.4 m=  e 12=  

b 1.2 m=  θ 30 deg=  
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Problem 5 

 

IY=_______________m4 

 
Given: 

 

m4
m2

=
=

b

a
 

 

 

 

 

 

 

 

Problem 6 

 

IXY=_______________m4 

 
Given: 

 
 

 

 

 

 

 

 

 

 

 

a 2 m=  

b 1 m=  
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 ( 3 50 ) 

1. 60kg/m
(20 ) 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

 5  6  

 - 5 - 

2. x- σx

4800MPa( ) y- σy 2400MPa( ) x- τxy 4000MPa(
) (Mohr Circle) (10 )
(2 ) (2 ) (2 ) AB (2 ) AB

(2 ) ( 20 ) 
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3. 60kg/m 600kg
C (10 ) 

 

 
 


